| Efficiency vs Dxy |
>0.01,
x N N N N N N N N N

o : 5 5 : : 5 5 : 5
@009t T o T S o

0] SRR NS SN S SRS S S
o S A A
O e A A 0 S A
© Foo : : : : : : : :
0.006 it
R
L7 S T R e
R T i
0002 o

T

OJ-'\-Q IIII:IIII:IIII:IIII:IIIIF:IIII:IIII:IIII:IIII:IIII

Rat

B0 A U O O S U0 O O

098 56-156-10 =5 05 10 15 20 25

TP dxy (cm)

—=— DQM_mKFIt_TTbase
— —e— DQM_mKFit5_TT_retrainOldFiles125_v2_prelimWP_epoch4
| Efficiency vs Dz | —— DOM_mkFit_TT_baseline_6iter

0.0 —+— DQM_mkFit6_TT_retrainOldFiles125_v2_prelimWP_epoch4
o : N N N N

e O e e
o C

1 00]:] R R O e S S
] et IDIES SO e
0,004 wvvsvvssvesdinsvessdienh
O] S TR SIS N e
S LIt DL HEE
O e T S

OJ“L'OIIII;IIII!IIII;IIII;IIII;IIII

30 20 <10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


